|dzoek's mefhed ) S sty:  23/9120

[
Substitate Sk = Zon ( scalar) .
1% Wk s the tilfed werpht veelos:

Solve ; i | y=wdl’, s >o.

ohee wi= (£8)"[ @+ spl o] [T+ 6 pla

€ 8 has mk 1 (it c(oe! since Pk 15 a (XN row vector) -
(ool = A7 = 47887 e gz o)

E [(‘L’E)—'+ Sk VKTPA]- = z‘? - l—lfg(z'é)fnfnrpk@i)
= ZE - SK (* ?f(ﬂn

= Wk =(95Y'§ v S| TS Gk - z §pﬁfpx§(zz)"rr]
Sk L5 P S @K)z

l’f

=(g§)-'§ 1T+ SKT[kar@K " in L S pTPuTT) ”5«2 512 PPa 2 (’nrQKf

= N ax ) nxid(1%)) (Px0) (ot} [xn) (1) () (nxa) 1) nm) (mx ) (ha)
imengionr

B ! S T _ 1T - 52T

(6970 + %twq G - b 0T w2 Pu'b 2 P @

Wk = a + b S« + C S’ w haue ‘%,@Céﬂzﬂ.



ld T(sx) = 1l Y -wu]l® be on coct furchion,

We wonf The S. fhat rimmrges T

T(S«) = (y- WK)r(Y’WK\ = yy- Tk -wiTy o+ i Twyg
Ty - yTarbsgrCsk) - T, *Crfua)y b wWiw

@,j - ALJT(’ = 2VTC Sk~ BTﬂ -267\75‘( p 2bThs + dcless
IS v aTh +aales 464 Tcw’

= Wb -9T£‘l;’y + (4oTc+26TL -27Tc-2c7y> S+ ébrm_“z , deTe Jka. =0



